
Matching Validation and kinematics of and extra-jets

MadReport

March 10, 2010

1



Contents

1 Differential Jet Rate 3

2 Graviton kinematics 3

3 Jet PT 4

4 Jet rapidity 5
4.1 Jet Rapidity: Production 1, jets with minimal PT of 0 Gev . . . . . . . . . . . . . . . . . . . . . . . . . . 5
4.2 Jet Rapidity: Production 1, jets with minimal PT of 50 Gev . . . . . . . . . . . . . . . . . . . . . . . . . . 6
4.3 Jet Rapidity: Production 1, jets with minimal PT of 100 Gev . . . . . . . . . . . . . . . . . . . . . . . . . 7

5 Ht calculation 8
5.1 Ht calculation: Production 1, done with minimal PT of 0 Gev . . . . . . . . . . . . . . . . . . . . . . . . . 8
5.2 Ht calculation: Production 1, done with minimal PT of 50 Gev . . . . . . . . . . . . . . . . . . . . . . . . 9
5.3 Ht calculation: Production 1, done with minimal PT of 100 Gev . . . . . . . . . . . . . . . . . . . . . . . 10

6 Missing ET 11

2



1 Differential Jet Rate
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2 Graviton kinematics
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3 Jet PT
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4 Jet rapidity

4.1 Jet Rapidity: Production 1, jets with minimal PT of 0 Gev

>0T1 with PoRapidity of jet n
-5 -4 -3 -2 -1 0 1 2 3 4 5

pb
/b

in

0.002
0.004
0.006
0.008

0.01
0.012
0.014
0.016
0.018
0.02

0.022

[MatchChecker]

Summed Contributions

+3 jets incl.

+2 jets excl.

+1 jets excl.

+0 jets  excl.: void

>0T2 with PoRapidity of jet n
-5 -4 -3 -2 -1 0 1 2 3 4 5

pb
/b

in

0.002

0.004

0.006

0.008

0.01

0.012

0.014

0.016

0.018

[MatchChecker]

Summed Contributions

+3 jets incl.

+2 jets excl.

+1 jets excl.: void

+0 jets  excl.: void

>0T3 with PoRapidity of jet n
-5 -4 -3 -2 -1 0 1 2 3 4 5

pb
/b

in

0.002

0.004

0.006

0.008

0.01

0.012

0.014

[MatchChecker]

Summed Contributions

+3 jets incl.

+2 jets excl.

+1 jets excl.: void

+0 jets  excl.: void

>0T4 with PoRapidity of jet n
-5 -4 -3 -2 -1 0 1 2 3 4 5

pb
/b

in

0.002

0.004

0.006

0.008

0.01

[MatchChecker]

Summed Contributions

+3 jets incl.

+2 jets excl.: void

+1 jets excl.: void

+0 jets  excl.: void

5



4.2 Jet Rapidity: Production 1, jets with minimal PT of 50 Gev
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4.3 Jet Rapidity: Production 1, jets with minimal PT of 100 Gev
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5 Ht calculation

5.1 Ht calculation: Production 1, done with minimal PT of 0 Gev
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5.2 Ht calculation: Production 1, done with minimal PT of 50 Gev
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5.3 Ht calculation: Production 1, done with minimal PT of 100 Gev
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6 Missing ET

Missing Transverse Energy
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